A
2 /EARL’S,

SOV PERFORMANCE PLUMBING

ADAPTER < AN >

ONNVIANYRN&TFY b

| VAN
ANHBAZ | 1/%y7 m B fli %
3 2 592403 ¥700
4 2 592404 ¥1,200
6 2 592406 ¥700
8 1 992408 ¥800
10 1 992410 ¥800
12 1 992412 ¥1,300
16 1 992416 ¥2,400
BMANFX-ANFZX XhL—F
ANHA X & fili &
3 983203 ¥1,300
4 983204 ¥1,900
6 983206 ¥1,300
8 983208 ¥2,200
10 983210 ¥3,500
12 983212 ¥4,500
16 983216 ¥8,900
B AN # X -AN # Z 45°
INPEPS & i #%&
3 983703 ¥2,900
4 983704 ¥2,900
6 983706 ¥3,600
8 983708 ¥4,700
10 983710 ¥5,800
12 983712 ¥8,700
B AN # X -AN # Z 90°
ANHAZ & i #%&
3 983303 ¥2,900
4 983304 ¥2,900
6 983306 ¥3,600
8 983308 ¥4,700
10 983310 ¥5,800
12 983312 ¥8,700
16 983316 ¥14,800
W37 1t4 AN F R -AN F X -AN #F X
ANYAX m & i #&
3 983403 ¥5,000
4 983404 ¥3,600
6 983406 ¥4,600
8 983408 ¥5,300
10 983410 ¥5,600
12 983412 ¥11,000
M3 1x14 ANF X -AN F X -AN # X
ANHAZ m & i &
3 980403 ¥4,000
4 980404 ¥4,000
6 980406 ¥4,200
8 980408 ¥6,500

MDA BAE LBR M TY
BHIARHCRRHBBEE R URIET,

Fa—TFv b

MAIL ORDER  KINOKUNI TEL 0736-62-6355 FAX 0736-62-8122,
httos../www.kinokun-e.com

25| X R & m

OANFa1—-TIUFK

7/

[

—

FIWVINAT (Fa—7)
(P282)

@ AN Z Dt

WFra1—JFvh
ANHAR -2y & & |l 18
3 [3/16| 48| 2 |581803| ¥700
4 1/4 | 64| 2 |581804| ¥700
6 |5/16| 79| 2 |581806| ¥700
6 3/8 | 95| 2 |581806| ¥700
8 1/2 | 12.7| 1 |981808| ¥600
10 | 5/8 | 159 | 1 |981810| ¥800
16 1 | 254| 1 |981816| ¥1,800
BF2—JRU-T
ANHAR -2y & & |l 18
3 [3/16| 48| 2 |581903| ¥600
4 1/4 | 64| 2 |581904| ¥600
6 |5/16| 79| 2 |R581956I-%®
6 3/8 | 95| 2 |581906| ¥600
8 1/2 | 12.7| 1 |981908| ¥500
10 | 5/8 |159| 1 ]981910| ¥500
16 1 | 254| 1 [981916| ¥1,200
%R58195613. P109&BBEELVE T,
¥ L. Fa2—TFyr&F2—TRAJ-TDHEEDHE
Fa—TRY—-7
X3 etc.
COmAETLTHRICTBICIR
FATEFBETY, (P35IBE)
BI2FXxvv7 (AN XX)
ANYAZ | 17597 m & i 1%
3 2 592903 ¥1,200
4 2 592904 ¥1,200
6 2 592906 ¥1,200
8 1 992908 ¥1,300
10 1 992910 ¥1,600
12 1 992912 ¥2,200
16 1 992916 ¥2,700
20 1 992920 ¥7,500
BMI>K7Z%5 (AN #*R)
ANHAZ | 175y m & i %
3 2 580603 ¥900
4 2 580604 ¥900
6 2 580606 ¥1,200
8 1 980608 ¥900
10 1 980610 ¥1,100
12 1 980612 ¥1,600
16 1 980616 ¥2,400
20 1 980620 ¥7,300
WIRTST(75309847)
ANYAZ | 17597 & fili %
3 2 581403 ¥1,500
4 2 581404 ¥1,800
6 2 581406 ¥1,800
8 1 981408 ¥1,100
10 1 981410 ¥1,600
12 1 981412 ¥2,800
16 1 981416 ¥3,400
¥ 0-U It

T




Z/EARL

ERIN crFORMANCE PLUMBING

ADAPTER < AN >

OANFX-ZX L —bxY

991939

991988

991994

WAZX2147
M AVHAR | & B Y A
M8Xx1.0 991960 | ¥3,000 O | — | —
M8x1.25 991959 | ¥2,300 | O | — | —
M10x1.0 991961 | ¥2,300 | O | — | —
M10x1.25 | 991962 | ¥2,300 | O | — | —
M10x1.5 991963 | ¥2,300 | O | — | —
M12X1.0 991964 | ¥2,300 | O | — | —
M12X1.25 | 991965 | ¥2,300 | O | — | —
4 | M12Xx1.5 991966 | ¥2,300 | O | — | —
M14x1.25 | 991967 | ¥2,300 | O|— | —
M14X1.5 991968 | ¥2,300 | O | — | —
M16X1.5 991938 | ¥2,300 | O | — | —
M18%1.5 991939 | ¥2300 | O | — | —
M10x1.5(ID/1mm)| 991969 | ¥2,300 | O | — | —
3/4"-16 991936 | ¥3,000 — | O | —
7/8"-14 991937 | ¥3,000 — | O | —
M10x1.0 991953 | ¥2,300 | O | — | —
M10x1.25 | 991971 |¥2300 | O|— | —
M10x1.5 991972 | ¥2,300 | O | — | —
M12X1.0 991973 | ¥2,300 | O | — | —
M12X1.25 |991945 | ¥2,300 O | — | —
M12X1.5 991944 | ¥2300 | O | — | —
M14X1.5 991977 | ¥2,300 | O | — | —
M16X1.5 991978 | ¥2,300 | O | — | —
M18X1.5 991979 | ¥2,300 | O | — | —
M20x1.5 991980 | ¥2,300 | O | — | —
M22%1.5 991974 | ¥2,800 | O | — | —
M24X1.5 991975 | ¥2,800 | O | — | —
6 |M26X1.5 991940 | ¥2,800 | O | — | —
5/8"-20 991941 | ¥3,200 | O | — | —
9/16"-24 991942 | ¥3,200 O | — | —
1/2"-20(F#>7)| 991946 | ¥2,600 | — | — | O
5/8"-18(1m27)| 991947 | ¥2,300 | — | — | O
7/8"-20 991949 | ¥2900 | O | — | —
11/16™18(27-7) | 991950 | ¥2,600 | — | — | O
1"-20 991952 | ¥2900 | O | — | —
7/8"-14 991957 | ¥3,000 | — | O | —
7/16"-20 985064 | ¥3,000 | — | O | —
1/2"-20 985065 | ¥3,200  — | O | —
9/16"-18 985006 | ¥3,000 | — | O | —
3/4"-16 985068 | ¥3,000 — O | —
M12x1.5 991981 | ¥2,600 | O | — | —
M14X1.5 991982 | ¥2,600 | O | — | —
M16x1.5 991983 | ¥2,600 | O | — | —
8 M18X1.5 991984 | ¥2,600 | O | — | —
M22X1.5 991997 | ¥2,600 | O | — | —
9/16"-18 985086 | ¥4,300 | — | O | —
3/4"-16 985008 | ¥3,600 | — | O | —
7/8"-14 985081 | ¥3,600  — | O | —
M14x1.5 991986 | ¥2,800 | O | — | —
M16X1.5 991987 | ¥2,800 | O | — | —
M18%1.5 991988 | ¥2,800 | O | — | —
M20x1.5 991989 | ¥2,800 | O | — | —
10|M22%1.5 991990 | ¥2,800 | O | — | —
1/2BSP 9919FED| ¥4,300 | — | — | O
3/4"-16 985009 | ¥4,300 | — | O | —
7/8"-14 985010 | ¥4,300  — | O | —
1"1/16-12 | 985011 | ¥6,600 | — | O | —
M14x1.5 991992 | ¥2,800 | O | — | —
M16X1.5 991993 | ¥2,800 | O | — | —
M18%1.5 991994 | ¥2,800 | O | — | —
12|M20x%1.5 991995 | ¥2,800 | O | — | —
M22%1.5 991996 | ¥2,800 | O | — | —
7/8"-14 985013 | ¥6,600 | — | O | —
1"1/16-12 | 985012 | ¥7,600 | — | O | —

MﬂﬁﬁﬁMMMWEMM%%&%%MW%%M%?’

QRETHTZ— (FILIF

@BFETHLT2— (RAF—ILH)

M.
W
w

) \l‘ll
L 0
/f'

=+
-«

B AN # X
ANHAX & fli &
3 997103 ¥1,200
4 997104 ¥1,200
6 997106 ¥1,200
8 997108 ¥1,600
10 997110 ¥1,900
12 997112 ¥3,200
16 997116 ¥4,200
20 997120 ¥5,500
BMANXZ (Tyov—2—LEAL47)
ANHAX o & i %
3 987103 ¥1,900
4 987104 ¥1,900
6 987106 ¥1,900
8 987108 ¥2,700
10 987110 ¥2,900
12 987112 ¥4,000
16 987116 ¥4,700
B NPT X X
NPTHAX & fii &
1/8 996701 ¥1,000
1/4 996702 ¥1,000
3/8 996703 ¥1,600
1/2 996704 ¥2,500
3/4 996706 ¥3,300
B AN * 2
ANH1Z S fli &
3 967103 ¥1,200
4 967104 ¥1,200
6 967106 ¥1,200
8 967108 ¥1,600
10 967110 ¥1,900
12 967112 ¥3,200
16 967116 ¥4,200
20 967120 ¥5,500
BANXZ (Tyyv—=2—IvE47)
ANHAX S fli %
3 965103 ¥1,200
4 965104 ¥1,200
6 965106 ¥1,200
8 965108 ¥1,600
10 965110 ¥1,800
12 965112 ¥2,000
16 965116 ¥2,400
B NPT X X
NPTHAX S fili #&
1/8 966701 ¥1,000
1/4 966702 ¥1,000
3/8 966703 ¥1,600
1/2 966704 ¥1,900
3/4 966706 ¥2.700

X ERET7HT4— B EEENEL TV AREWEBRITE TV ER AL
ZLDOYEPRELTVBBENBIETH. ZTETI,

YA XICLNBEEERTIRDF BEBMPEIET,

QOANFZX-ZAPL—FxT

| B e v

ANYAX | XOHAX m & fli &
6 M12x1.25 | 9894DBE | ¥2,100
6 M12x1.5 | 9894DBF | ¥2,100
6 M14x1.5 | 9894DBH | ¥2,300
6 M16x1.5 | 9894DBJ | ¥2,300
6 M18x1.5 | 9894DBK | ¥2,500

*FROFSERIBIR MR TS

BRI AR BEBEE R LRIET,





